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The	
  dependency of	
  	
  𝜒" calculated as

on	
  a	
  variable A1/2 has been estimated for	
  Legendre moments P0,…,P6 for	
  different
configurations:

• Ebeam =	
  6.6	
  GeV,	
  8.8	
  GeV⟶	
  same results

• Q2 =	
  0.1	
  GeV2,	
  0.562	
  GeV2,	
  1.002	
  GeV2

For	
  each curve	
  the	
  value of	
  A1/2 for	
  which the	
  𝜒" exceeds 4	
  has been obtained.
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  Legendre	
  moment:	
  𝜒" vs  A1/2

• J =  1/2
• Grid:  Regge  +  Res.  
• Q2 =  0.1  GeV2
• E  =  6.6  GeV
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  𝜒" vs  A1/2

• J =  1/2
• Grid:  Regge  +  Res.  
• Q2 =  1.002  GeV2
• E  =  6.6  GeV
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The	
  dependency of	
  	
  𝜒" calculated as

on	
  a	
  variable Mres has been estimated for	
  Legendre moments P0,…,P6 for	
  different
configurations:

• Ebeam =	
  6.6	
  GeV,	
  8.8	
  GeV⟶	
  same results

• A1/2 =	
  20,	
  40

• Q2 =	
  0.1	
  GeV2,	
  0.562	
  GeV2,	
  1.002	
  GeV2
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  moment:	
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• J =  ½
• Regge  +  Res.  
• Q2 =  0.1  GeV2
• E  =  6.6  GeV
• A  =  40
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• J =  ½
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• Regge  +  Res.  
• Q2 =  0.1  GeV2
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• Regge  +  Res.  
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